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(©)
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(A) Qe ade
(B) QT e89Ig BIgY g8 K4S

(C) 2eT edel
(D) Q898 Qe cRYe!
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119.

120.
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A 660 m long train crosses a bridge and a
pole in 1 min 25 sec and 11 sec
respectively. What is the length of the

bridge ?

(A) 4240 m
(B) 4440 m
(C) 5100 m
(D) 5340 m

Which condition is necessary to ensure
objectivity of the test ?

(A) By encouraging descriptive
answers,

By adopting subjectivity in scoring
procedure.

(B)

By asking questions which have one
and only one answer,

(D) By putting guessing questions.

(©)

Which one of the following is affective

domain in teaching Mathematics ?

(A) Counting numbers

(B) Interested in Solving Mathematical
Problems

(C) Solving Mathematical Problems
(D) Write the number after
multiplication

Qe @idy aig @19 / SPACE FOR ROUGH WORK
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(0Geea Gmig / ENVIRONMENTAL SCIENCE J

. 900 cafel 2 >
21 soellipl 6960 69uTQ ad9E® | 121. Which of the following does not change
during the melting of ice ?
A
(A) Sige g (A) Density
(B) ISR
(B) Volume
(C) IO
(C) Temperature
n
SR (D) Phase
122. €54 QINIEAS QIAI QA1E €6l @IAR | 122. Which Act passed by British Parliament
¢ARIT 1919 AARIER VO VAR VISR in 1919 did become Government of India
§a &7aI 7 Act?
(A) N69g-690Q 6T1¢ Q]UR LR (A) Montagu - Chemsford Reforms Act
(B) esi-fesl QIR @G ZIAR (B) Morley - Minto Reforms Act
(C) SMTeRe fan 29 (C) Cabinet Mission Act
(D) QUGN VIR (D) Rowlatt Act
123. QIGEER 690 QY QDo Q9R S99 WeA | 123. Withwhich crop was the green revolution
eRIQ2M 7 started in India ?
(A) IR (A) Rice
w (B) Wheat
(C) 219 (C) Sugar cane
(D) <a (D) Cotton
124. 210 21g0 coIGacn @' SQIde 860 7 124. What should be done when fingers are
burnt ?
(A) Squiae Aan aeIae! (A) To apply Aloe vera lotion
(B)_zeiaifiea 89 28 QP (B) To dip the wound in cold water
(C) ReRARY 6 (€) To bandage the wound
(D) Q& VAT (D) To pour ink
OTET/P-1 (47)
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125. §@1917 8 §@4 6E8e60 U MNMNG
QEVVA! VIS ELAYD VO AUMIFAO
S6AAIER CRATH DINEIRS! Q6H AT 7

(A) 8 o8q
(B) €84 Q0N 00188

) _aende oarse

(D) 699F & Q6F

126. 9UT QAYIAR QIG1 696% §0 eamare 7

« (A) 8818 geeear eee
(B) d@igive 28 86 agdul
(C) dmiEhee Qe idioas
(D) dsiice Zowe 891 2919

127. GIGER Q1A AVRER AU ARG
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125. In the statistical analysis of quantitative
rescarch in teaching-learning processes in
education, which of the following is not

required ?
(A)
(B)
(©)
(D)

Intelligence test

Learning achievement test
Physical test

None of the above

Which one is determined by the
placement evaluation ?

(A) Entry behaviour of pupils

(B) Minor learning difficulties of pupils
(C) Overall achievement of pupils

(D)

126.

Major learning deficiency of pupils

127. Which vitamin is required during the

JIGYee! arg ? early stage of pregnancy ?
(A) 21IAR (A) Thiamine
Mq@q (B) Folic acid
(C) TR 9de (C) Ascorbic acid
(D) fuide (D) Niacin
128. RURSIH QARG ABIGEI 84 7 128. Who is the protector of Indian
Constitution ?
(A) @igod (A) President
(B) 6QILAG {(B) Lok Sabha
(C) UNCR (C) Rajya Sabha
(D) _S6919 f4IIea (D) Supreme Court
OTET/P-1 (48) (Continued)
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s 1% not
429 FE7I9 Aug 6R6C 4@ aeEge auq 129. Which one of the following 1% not @
Q€§ ! greenhouse gas ?
(A) TEIERIT] (A) Carbon dioxdde
(B) G&9R (B) Ozone
(C) UIREE, (C) Argon
\.-/’ 1
(D) 6K (D) Methane
130. 660 QIANIYIEG LA €91 YRIQ 27°C 130. At what temperature, velocity of sound
fRie Yege 6Re 7 will be double of its value at 27°C ?
(A) 54°C (A) 54°C
(B) 600°C (B) 600°C
(C) 927°C (C) 927°C
Nt——
(D) 1200°C (D) 1200°C
131, QIGER 9@ VGEIQ 87 @@ 78960 15N | 131. A block of body weighs 15 N in spring
CoNIoRl 696R QIE6R ol'a 699 12N balance in air and its weight in water
codied | 9% adie Qe 1 gm/cc 9, shows 12 N. If the density of water is
Qgeee 2cOAQ gag 6960 629 7 1 gm/cc, what is the specific gravity of
the block ?
(A) 0.8 (A) 0.8
(B) 0.25 (B) 0.25
5
© % © %
- D) 5 (D) 5
OTET/pg (49)
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32. QI : 'AY
132. 6QILY QIR 9@ QACEEYS OL6R ‘A 9 | 132. A vehicle moves along a straight path

‘B '0‘0‘46'20 Lm/hr CRGER ORI QG:‘ ‘B from ‘A" o 'R at a 5Pccd of 20 PM/hf
q A" Qa4 30 L:n/hr GQG'{GQ TR | and returns from ‘B’ to ‘A" at a speed of
Qre QIgIER QINTR VIRNIG 699 6960 30 km/hr. The average speed of the
ase ? vehicle during the total journey is :
(A) km/hr (A) 25 km/hr
(B) 24 km/hr (B) 24 km/hr

\Q/D-‘-‘ km/hr (C) 225 km/hr
(D) 264 km/hr (D) 264 km/hr

133. Q69IS Saica MORE QVIAe QNG QIR | 133. To whom a teaching aid in the teaching

ale 9dg ? of Geography is meant ?
(A) 918 (A) Student
(B) &89 (B) Teacher
€ seamge ase Re (C) Both Student and Teacher
(D) SS9 (D) School

134. QL8 90N QIAIFeI Q°3IN ELQEe 134. When did the first struggle for Indian

sRIQyQl 7 Independence take place ?
(A) 1757 (A) 1757
w" \ (B) 1857
(C) 1919 (€) 1919
(D) 1942 (D) 1942

135. 6948 060F 0B6ea Saie gode 88IRI9a | 135. Which is not included under exhibition

Fa () @\‘.‘ ? mediated environment science teaching ?
(A aeI6a 98 2SR (A) Drawing diagrams on blackboard
(B) QIF eI (B) Use of charts
(C) 6oRGeR Qg (C) Television programme
(D) €84 CORER MRS (D) Use of tape recorder

e e

oTET/P1 (50) (Continued)
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136. Where is located the Northern most part

(A) SIS of India ?
B %6 oigie (A) Ladakh
© oBie (B) Jammu & Kashmir
D) BI9% geog (D)), Punjed
(D) Himachal Pradesh
e 322?:12,?:96@ 98628 §8069 | 137. Which two environments are learnt by
) child during childhood ?
(A) 9I8eR 8 Qnge (A) Natural & Social
|) Qe e (B) Social & Physical
(€) 69159 ¢ arqde (C) Physical & Cultural
ywxﬁe 8 QAIEe (D) Cultural & Social
138. 696G UMY BeRIE 0Ig QR ? 138. Which one is different from other three ?
(A) g (A) Potato
wg (B) Sweet Potato
(C) o= (C) Radish
(D) QLR (D) Carrot
139. Bgje0 SuIQIRYS S6aa g8 AU] 6966 | 139. Which of the following characters is not
omice AIIAER 386a 28 S6a8 98 7 a part of education through computers ?
(A) o1 694 () ‘spoed
(B) QD& (B) accuracy
€) Q5618 (C) storage
(D) ol (D) intelligence
OTET/P-1 (51) (Continued)
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140, SMISA DRARER DAIESEE 08F BRA6e
Q8 DIN 8 PO PRIER DI JIR IES
DQuIR @89 QI8 6RIEY g ang
Soueng 8ae Fela 6O6R | ORGA 6Ra
UUINANIT OR ?

(A) OEIRO TOY YRIINR
(B) E8QC Q& QY TRUIR ALSQIR

\yéﬁe agieRad ARaa
(D) QIS AN YRGS

141. 9IQQQ FEIS QRNITE 696§ 6RIT

eRiIQag 7

(A) sagl
(B) I
(C) Q5IR Q9
(D) @eeeQ

142, QINCEI OTIER 6QE 48 QUORE 4 7

AL S2Ha
(B) 6@ \

(C) 6&°
(D) 9198
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140. Teacher instructed all the students of a

141.

142,

class to study the difference between
weather and climate separately in the
school compound. Which is a correct

concept of the procedure 7

(A) Limited period of observation

(B) Easier for the teacher to investigate

the work
(C) Possibility of daily observation
(D) Eradication of misconception

Which disease is caused due to mercury
poisoning ?

(A)
(B)
©
(D)

Pellagra
Minamata
Itai-itai~

Rickets

Which-energy is used in sailing boats ?
(A) Tidal ‘
(B) Solar
(C) Bio

(D) Thermal

143. 92AQ 2060 0501Q 0101 768 696 | 143. Which method is most useful for teaching
Q800 2R RO BEE ? history at primary level ?
(A) adieesa (A) Observation
(B) gode \ (B) Demonstration
(©) QaR (C) Story-telling
(D) 9%® (D) Project
R = 1
NTET / P-1 (52) (Continued)

Latast Sarkon Jobs, Govl Exam Rosulls,

Vacansios and updotos

k¥




144, VIS QARG cog Mol B

(A)
(B)
(€

99 Zisaig

el 73
il 74
IRl 326

(D)8l 324

145. QI9ERQ NMHEA 2°Q codd 7
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144. Which article of Indian Constitution
indicates about an Election Commission ?

(A)
(8)
(©)
(D)

Article 73
Article 74
Article 326
Article 324

145. Which is the longest part of the alimentary
canal ?
Wil S (A) Stomach
i (B) Oesophagus
& (C) Large intestine
(D)L 8348 (D) Small intestine
146. 696 AING GOR 0A1GE GGAI 886 OBEIA | 146. Which standardised method indicates the
QQQIQ_ qeIear ? consistency of test scores in evaluation
process ?
(A) €3uQI (A) Validity
(B) ol (B) Reliability
(C) ayeeEael (C) Usability
(D) @gRee (D) Objectivity
147. 3GEE AUIQ CRENIRSR QEARR 147. Out of the following which are
Qe ? isoelectronic in nature ?
@ N, @) €O (i) NO* i) N, @) CO (i) NO*
(iv) CN~ (iv) CN-
(A) (i) Qe (i) (A) (i) and (ii)
(B) (i) Q9" (iii) (B) (i) and (iii)
(C) (i), (i) 4 (i) (C) (i), (if) and (iii)
(D) QLR (D) Al
o= 22
OTET/P-1 (53) (Continued)
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148. 606 2idn sad K106 AT 694
Q94 7
l-
(A) 76; E

lo
LR L

_1-.

(C) 86— E

10
92—~ E

149. .Q°Q91D AGLINEH 69Q ABNGR &da
QOIS QIR TILER BRRIA 298 7

(A) Quaad
(B) QuINAR!

O —chieas

(D) 696a SRAIAE

150. 2RZIAD VNNGRIQ 6RR I QIRER 7

(A) _S56aR,
(B) QN6 eNIq
(€) <Rde

(D) Q9ed

~000-
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148. Which meridian is very important for
India ?

(A) 767 E

B 82- E
86~ E

(©) 5

(D) 92

To whom are the Union Council of
Ministers accountable for wvarious
functions in the Parliamentary form of
Government ?

(A) President

(B) Prime Minister

(C) Lok Sabha

(D)

149.

People of the country

150. Which gas is released from landfill

wastes ?

(A) Methane
(B) Natural gas
(€ LPG

(D) CNG

~000-
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